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�� ������� ���� ������� ������ ỹk+� = yk + hf (yk)

�� ������� ���� ��� ����������� ����� yk+� = yk +
h
�
(f (yk) + f (ỹk+�)).
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r� = f (tk + c�h, yk + (a�� · r� + · · ·+ a�s · rs)h)
���
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rs = f (tk + csh, yk + (as� · r� + · · ·+ ass · rs)h)
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yk+� = yk + (b� · r� + · · ·+ bs · rs)h
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c� a�� · · · a�s
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cs as� · · · ass
b� · · · bs
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�� y��� ������

yk+� =
M�

i=�

αiyk+�−i + h
N�

i=�

βi f (yk+�−i )
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u��(x) + p(x)u�(x) + q(x)u(x) = r(x)

���� �������� ���������� ������� �� a�

� ��������� u(a) = ua
� �� ������� u�(a) = va
� �� ����� αu(a) + βu�(a) = wa

��� ��� ���� ������� ��� ��� �� �� b�

����� ���� �� ���� ��� ���� �� ������������� ����� x ���� t� �� ���������
���� ��� ��� ����������� ���������
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��(x) = �(�(x)) � : Rn → Rn

����
�(�(a), �(b)) = � � : R�n → Rn

������� ��� ��������� ��������� �� ���������� ��� ��������� ������

���� � ����������� ������ ��� ���� ������

�������� ������ ���
Ba�(a) + Bb�(b) = �
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������� ���� �� ������ ���� ���� ������� ��� �� �������� ��� ���� ������
→ ���� �������� ������ ����

(∗)
�

��(x) = A(x)�(x) + �(x)
Ba�(a) + Bb�(b) = �

�� ����� ����� �������� ����������� ���

��i (x) = A(x)�i (x)

���� ������� ���������
�i (a) = �i .
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Y (x) =
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